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Time allowed: 20 Minutes

GENERAL SCIENCE SSC-ll
SECTION = A (Marks 15)

NOTE: Section-A is compulsory. Alf parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1  Circle the correct option i.e. A/ B/ C/D. Each part carries one mark.

(i)

(ii)

(iif)

(iv)

v)

{vi)

(vi)

(viii)

(ix)

(x)

()

(i)

(xiii)

{xiv)

(xv)

For Examiner’s use only:

Number of chromosomes in monkey are:

A § B. 14 C. 48 D. 42

The growth of the cell and the body is the result of;

A Digestion B. Division of labour

C. Diffusion D. Assimilation

Special chemical compounds that Kill the insects are called;

A, Fungicides B. Insecticides C. Pesticides D. Vaccine

An infant béby need 600 to C.C of milk per day.

A 700 B. 800 ' C. a00 D. 1000

Wheat and rice give sameamountof ___ calories per 100g of food.

A 100 B. 500 S C. 348 D. 155

Cotten fibres are actually a carbohydrate called:

A, Sucrose B. - Starch C. Glycogen D. Cellulose
Pakistan has large deposits of Coal nearly:

A. 500 millior: tons B. 400 million tons

C. 300 million tons D. 200 million tons

The temperature of Thermosphere rises upto:

A. 800°C B. 1006°C C. 500°C 0. 1500°C
Which fraction of pefroleum is used in heavy vehicles as fuel?

A Petroll B. Refinery gases C. Diesel ol D. Kerosene oil
Ammeter is used to measure:

A Resistance B. Current C. Voltage D. Capacitance
The number of stages of sleep which have been identified leg EEG are:

A. Two B. Three , C. Four D. Five

MRI (Magnetic Resonance Imaging) basically images the NMR (Nuclear Magnetic Resonance) signal from
the __ nucleus. ‘

A Hydrogen + B. °  Nitrogen C. Oxygen D. Carbon
Which one is used to treat cancer qf Thyroid Glands?

A. Phosphorus — 32 B. Cobalt - 60

C. Carbon —-14 D. Chicrine —35

Sputnik-l was sent into space by:

A. Russia B. America C. China D. France

The power of nuclear power plant commissioned at the right bank of Chashma Canal is;

A 100 megawait B. - 200 megawait C. 250 rhegawatt D. - 300 megawatt

Total Marks: 15

Marks Obtained:
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Time allowed: 2:40 Hours

GENERAL SCIENCE SSC-I

Y g

Total Marks Sections B and C: 60

NOTE: Answer any twelve parts from Section ‘B’ and any three questions from Section ‘C’ on the
separately provided answer book. Use supplementary answer sheet i.e. Sheet-B if required.
Write your answers neatly and legibly.

Q.2 - Answer any TWELVE parts. The answer to each part should not exceed 3 to 4 lines.

(i)
(it}
(iii)
(iv)
(v)
(vi}
(vii)
{vii)
(ix)
(x)
{xi)
{xii)
{xiii)
{xiv)
{xv)
(xvi)
{xvii)

{xviii}

Note:

Q.3 a.
b..

SECTION — B (Marks 36)

What is meant by division of Labour?

How is recycling of paper and paper products helpful in human life?
How do white blood cells (WBC) save us from diseases?

Write a short note on “Master Gland”.

Write down the function of Vitamin B12.

{12 x 3 = 36)

With the help of a chart show the energy requirement of body according to age and gender.

Write down the reasons of Urbanization.

Give composition of atmosphere.

What are common poliutants in air?

What are the different categories of fuse?

State OHM’s law.

Write a short note on Earth Leakage Circuit Breaker (ELCB).

How are optical fibres better than copper cables in communication?
Write a short note on Holography.

Describe the steps for the manufacturing of sugar from sugarcane.
Why ultrasound is preferred over X-Rays?

What is Skylab?

Describe the Apollo Mission.

SECTION — C (Marks 24)

Attempt any THREE questions. All questions carry equal marks.

~ Give the general characteristics of Enzymes.

Explain in detail Fat Soluble Vitamins.

Q.4  Explain the mechanization in agriculture sector of Pakistan.

Q.5 Write a detailed note on Transformer.

Q.6  How does energy build up in laser?
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(3 x8 = 24)

(04)
(04)
(08)
(08)
(08}
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(iv)
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(vii)
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